

### PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

March 9, 2016

PIAC FILE # 6458

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON M4P 1E4

VIA E-Mail 22 pages

Dear Ms. Walli:

Re:

Board File No. EB-2014-0116

Toronto Hydro-Electric System Limited (THESL)

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

We have attached the cost claim of the Vulnerable Energy Consumers Coalition (VECC) associated with its participation in the above noted proceeding. We have also directed a copy to the applicant. VECC In addition to the proceedings associated with the THESL Custom IRM application, VECC participated in the ancillary proceeding associated with the determination of the pole attachment rate associated with the intervention of the Carriers. VECC also retained a telecom expert to advise with respect to a number of aspects of telecom cost allocation whose work was reflected in the interrogatories.

We have attempted to set out the time spent as much as possible to adhere to the new cost claim schedule. Unfortunately there are a number of items of work that do not fit neatly into the different form categories. Motions, procedural and substantive, review and response to procedural decisions and Board letters and some of necessary routine responses required to the over 350 emails received in the course of the hearing are among the items not easily classified on the new form. We have used, in part, the "Other Conference" category to try and capture many of these kind of entries, or simply used the category that is closest in time to the work done. The organization of time by the form may thus not lend itself to a precise accounting of how much time was actually spent on any aspect of VECC's participation in this proceeding, but the description of the work in the dockets attached is accurate to the best of our knowledge.

Yours truly,

3

Michael Janigan Counsel for VECC

cc:

THESL - regulatoryaffairs@torontohydro.com

1204-ONE Nicholas Street, Ottawa, ON K1N 7B7 Tel: 613-562-4002 Fax: 613-562-0007 <a href="mailto:piac@piac.ca">piac@piac.ca</a> <a href="mailto:www.piac.ca">www.piac.ca</a> <a href="mailto:www.piac.ca">wwww.piac.ca</a> <a href="mailto:www.piac.ca">www.piac.ca</a> <a href="mailto:www.piac.ca



## **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

				able, state e	ormulas are embedded in the form to assist wexchange rate and country of initial currency.	
Disbursement However, or - The cost cla - A CV for ea	nts Bei nly one aim mu ach con	ng Claimed") "Summary of ist be support sultant/analy	s required for each Fees and Disburs red by a complete st must be attach	ch lawyer, and ements" cond ad Affidavit s ed unless pr	Country:  d" (comprising a "Statement of Fees Being Clainalyst/consultant and articling student/paravering the whole of the party's cost claim shisting by a representative of the party.  rovided to the Board as prescribed on the Country of the party.  Direction on Cost Awards, itemized receipts	legal. ould be provided. ost Award Tariff.
File # EB-	EB-2	014-0116			Process: Toronto Hydro-Electric Syst	em Limited
Party:	VEC				Affiant's Name: Donna Brady	
HST Numb	er:	13059 240	5		HST Rate Ontario:	3.94%
			II Registrant Inregistered Other		Qualifying Non-Profit Tax Exempt	
	7.34				Affidavit	
I,			onna Brady		, of the City/Town of	Ottawa
in the Pro	vince/	State of	Or	itario	, swear or affi	rm that:
2. I have exa Being Claime 3. The attack Disbursement Ontario Ene 4. This cost of	amined ed", "Si hed "Si nts Bei rgy Boa claim d	all of the doc tatement(s) o ummary of Fe ng Claimed" in ard process re oes not include	umentation in sup f Fees Being Claim es and Disbursem nclude only costs ferred to above. de any costs for w	oport of this ned" and "St ents Being ( incurred and ork done, o	") and as such have knowledge of the matter is cost claim, including the attached "Summar tatement(s) of Disbursements Being Claimed Claimed", "Statement(s) of Fees Being Claimed it time spent directly for the purposes of the retime spent, by a person that is an employed rection on Cost Awards.	ry of Fees and Disbursements ". ed" and "Statement(s) of Party's participation in the
	1		-	-/		
Signature	of Af	fiant		/		
Sworn or	affirm	ed before	me at the City	Town of	Ottawa	, ,
in the Pro	vince,	State of	C	ntario	, on MAK-	9-2016.
Commissi	oner 1	for taking A	ffidavits		(date)	



## **Affidavit and Summary of Fees and Disbursements**

File # EB-	EB-2014-0116	Process: Toronto Hydro-Electric System Limited
Party:	VECC	
	Sur	nmary of Fees and Disbursements Being Claimed
Legal/con	sultant/other fees	\$ 113,366.50
Disbursen	nents	
HST		\$ 4,480.83
Total Cos	t Claim	\$118,207.58

	Payment Information	
Make cheque payable to:	Public Interest Advocacy Centre	
Send payment to this address:	1204-ONE Nicholas Street	
	Ottawa, ON	
	K1N 7B7	

Michael Janigan
Janigan Professional Corporation
c/o Public Interest Advocacy Centre
1204-ONE Nicholas Street
Ottawa, ON
KIN 7B7

#### STATEMENT OF ACCOUNT

March 9, 2016

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EB – 2014-0116 Toronto Hydro-Electric System Limited (THESL)

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$330.00 per hour

To receipt, review, and attending on behalf of VECC in the above-noted proceeding.

November 2014 to February 2016

TO: Hours

165.05 Hours @ \$330.00 per hour

54,466.50

HST @ 13%

7,080.65

TOTAL AMOUNT DUE AND OWING:

\$ 61,547.15

Michael Janigan Janigan Professional Corporation - 831059738



File # EB-	2014-0116		Process: _	THESL	
Party:	UECC		Service Pro	vider Name: MCHAGE	JANIGAN
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel	· ·	1980	Experie	
	Articling Student/Paralegal Consultant			Hourly Rate:	\$330
	Analyst				
	For Consultant/Analyst:	CV attac	ched ided within previous	HST Rate Charged (enter %): 24 months	3.9% %

				ous 24 months					
S	tatement	-	Charles San I Security Securit			arts are			
	Hours	Но	urly Rate	Subtotal		HST		Total	
Pre-hearing Conference									
Preparation	1.9	\$	330.00	\$627 -	\$	24 -70	\$	651	-70
Attendance		\$	330.00	\$ -	\$	-	\$		F
Technical Conference									
Preparation		\$	330.00	\$ -	\$	:- :	\$		(=)
Attendance		\$	330.00	\$ -	\$	-	\$		050
Interrogatories									
Preparation	0.6	\$	330.00	\$ 198 -	\$	7.80	\$	205	-80
Responses		\$	330.00	\$ -	\$	-	\$		-
Issues Conference									
Preparation	0.6	\$	330.00	\$ 198 -	\$	7-80	\$	205	-80
Attendance		\$	330.00	\$ -	\$	-	\$		-
ADR - Settlement Conference									
Preparation	13.6	\$	330.00	\$4.488-	\$	176-83	\$ 4	4.664	-83
Attendance	23.8	\$	330.00	\$7.854-	\$	309-45	\$	8,163	4/5
Proposal Preparation	1.3	\$	330.00	\$ 429-	\$	16-90	\$	445	-90
Argument								110	, /-
Preparation	23.2	\$	330.00	\$7.656 -	\$	301 -65	\$	7,957	-65
Oral Hearing	69.			1,0,00	<u> </u>	0-1		11	.00
Preparation	53.85	\$	330.00	\$/7.770-5	0 \$	700-16	\$/	8,470	-66
Attendance	24.8	\$	330.00	\$8,184-		322-4		8,506	45
Other Conferences	, , в			. 07. 07		y == /3	-	4 4 0 8	73
Preparation	18.9	\$	330.00	\$6237 -	\$	245-74	\$ (	6,482	-74
Attendance	2.5	\$	330.00	\$ 825 -	\$	32-51	\$	857	<1
Case Management		\$	170.00	\$ -	\$	-	\$	0.) [	-
	11000					0.10-01		1 1.0	
TOTAL SERVICE PROVIDER FEES	65.05			\$54, 466.	50 5	2143-98	\$ 5	6,612	-48

### TraxTime report for Michael Janigan created 3/8/2016 06:14 PM

Thursday, November 06, 2014 - Total 0.2 in: 9:30a out: 9:40a 0.2 6458THESLIRMEB2014-0116

review of P.O.2

Wednesday, November 12, 2014 - Total 0.3 in: 8:05p out: 8:23p 0.3 6458THESLIRMEB2014-0116 review of emails re evidence conference

Tuesday, November 18, 2014 - Total 0.6 in: 3:51p out: 4:27p 0.6 6458THESLIRMEB2014-0116 review transcript evidence conference

Thursday, November 27, 2014 - Total 0.4 in: 12:02p out: 12:25p 0.4 6458THESLIRMEB2014-0116 review THESLs issues list and emails

Tuesday, December 02, 2014 - Total 0.2 in: 4:09p out: 4:19p 0.2 6458THESLIRMEB2014-0116 receipt of Issues list decision

Friday, December 05, 2014 - Total 0.2 in: 9:17p out: 9:26p 0.2 6458THESLIRMEB2014-0116 receipt of Thesl letter and emails

Monday, December 08, 2014 - Total 0.4 in: 4:12p out: 4:38p 0.4 6458THESLIRMEB2014-0116 receipt and scan of PEG report

Friday, December 19, 2014 - Total 0.4 in: 4:51p out: 5:14p 0.4 6458THESLIRMEB2014-0116 reseipt and review of SEC motion

Friday, January 02, 2015 - Total 0.3 in: 7:11a out: 7:28a 0.3 6458THESLIRMEB2014-0116 review letter from CEA and constitutional questions

Tuesday, January 13, 2015 - Total 0.5
in: 9:09a out: 9:19a 0.2 6458THESLIRMEB2014-0116
review of SECletter
in: 5:55p out: 6:11p 0.3 6458THESLIRMEB2014-0116
review of PO#5

Friday, January 16, 2015 - Total 0.2

in: 9:03p out: 9:15p 0.2

6458THESLIRMEB2014-0116

receipt of PO#6 and THESL affadavit

Monday, January 19, 2015 - Total 0.3

in: 3:12p out: 3:29p 0.3

6458THESLIRMEB2014-0116

review motion transcript

Wednesday, January 21, 2015 - Total 7

in: 12:16p out: 3:47p 3.5

6458THESLIRMEB2014-0116

review file and Harper notes

in: 4:55p out: 7:14p 2.3

6458THESLIRMEB2014-0116

review and prep for ADR

in: 10:20p out: 11:29p

1.2

6458THESLIRMEB2014-0116

review for ADR

Thursday, January 22, 2015 - Total 10.8

in: 6:10a out: 8:14a 2.1

6458THESLIRMEB2014-0116

review file and garner notes

in: 9:30a out: 5:00p 7.5

6458THESLIRMEB2014-0116

attend at ADR

in: 8:22p out: 9:36p 1.2

6458THESLIRMEB2014-0116

review file

Friday, January 23, 2015 - Total 8.2

in: 8:05a out: 8:35a 0.5

6458THESLIRMEB2014-0116

review emails from THESL

in: 9:30a out: 5:00p 7.5

6458THESLIRMEB2014-0116

attend at ADR

in: 7:00p out: 7:12p 0.2

6458THESLIRMEB2014-0116

review of OEB correspondence

Sunday, January 25, 2015 - Total 2.1

in: 9:10a out: 11:17a

2.1

6458THESLIRMEB2014-0116

review file and prep for ADR

Monday, January 26, 2015 - Total 9.3

in: 7:10a out: 7:37a 0.5

6458THESLIRMEB2014-0116

review file before ADR

in: 9:30a out: 6:15p 8.8

6458THESLIRMEB2014-0116

attend at ADR

Tuesday, January 27, 2015 - Total 0.8

in: 4:16p out: 5:02p 0.8

6458THESLIRMEB2014-0116

review settlement offer and emails

Tuesday, February 03, 2015 - Total 0.4

in: 6:03p out: 6:25p 0.4

6458THESLIRMEB2014-0116

emails re hearing plan

Friday, February 06, 2015 - Total 0.5 in: 6:41p out: 7:13p 0.5 6458THESLIRMEB2014-0116 receipt and review of settlement offer #3

Monday, February 09, 2015 - Total 1.5
in: 5:13p out: 6:44p 1.5 6458THESLIRMEB2014-0116
review file hearing plan and emails receipt and review of Rogers
letter

Wednesday, February 11, 2015 - Total 1.6 in: 3:42p out: 5:19p 1.6 6458THESLIRMEB2014-0116 review file including SEC motion decision

Thursday, February 12, 2015 - Total 0.5 in: 4:08p out: 4:36p 0.5 6458THESLIRMEB2014-0116 review of emails re hearing plan and letter from Rogers

Friday, February 13, 2015 - Total 2 in: 8:55a out: 10:57a 2 6458THESLIRMEB2014-0116 review Panel 1 evidence

Sunday, February 15, 2015 - Total 2.1 in: 11:54a out: 1:59p 2.1 6458THESLIRMEB2014-0116

review evidence and interrogs and prep

review evidence and emails

Monday, February 16, 2015 - Total 6.9
in: 9:34a out: 11:12a 1.6 6458THESLIRMEB2014-0116
review evidence and prep for hearing
in: 1:19p out: 4:11p 2.9 6458THESLIRMEB2014-0116
review evidence and prep
in: 8:08p out: 10:30p 2.4 6458THESLIRMEB2014-0116
review Garner notes and prep

Tuesday, February 17, 2015 - Total 3.1
in: 7:12a out: 8:01a 0.8 6458THESLIRMEB2014-0116
review file and organize
in: 9:30a out: 10:40a 1.2 6458THESLIRMEB2014-0116
attend at OEB for preliminary matters
in: 2:10p out: 3:14p 1.1 6458THESLIRMEB2014-0116
prep for Panel 1 cross

Wednesday, February 18, 2015 - Total 5.4

in: 9:27a out: 10:58a

1.5

6458THESLIRMEB2014-0116

review file and first panel cross and read transcript.

in: 1:12p out: 2:59p 1.8

6458THESLIRMEB2014-0116

prep for panel 2

in: 9:03p out: 11:10p

2.1

6458THESLIRMEB2014-0116

prep for panel 2

Thursday, February 19, 2015 - Total 7.5

in: 7:02a out: 8:15a 1.2

6458THESLIRMEB2014-0116

review file and prep for panel 2

in: 9:30a out: 3:45p 6.3

6458THESLIRMEB2014-0116

attend at the OEB cross of panel 2

Friday, February 20, 2015 - Total 2.4

in: 10:12a out: 12:33p

2.4

6458THESLIRMEB2014-0116

review evidence of PEG conversation with Board Staff review

transcript

Saturday, February 21, 2015 - Total 0.9

in: 4:12p out: 5:06p 0.9

6458THESLIRMEB2014-0116

conversation with Bill Harper and review emails

Sunday, February 22, 2015 - Total 6.1

in: 9:11a out: 11:01a

1.8

6458THESLIRMEB2014-0116

review file and prep

in: 11:28a out: 2:36p 3.1

6458THESLIRMEB2014-0116

review Garner notes Vol 1 transcript

in: 6:49p out: 8:03p 1.2

6458THESLIRMEB2014-0116

review panel 1 cross

Monday, February 23, 2015 - Total 7.9

review file and organize

6458THESLIRMEB2014-0116

in: 7:19a out: 8:15a 0.9

in: 9:30a out: 4:30p7

6458THESLIRMEB2014-0116

attend at OEB hearing

Tuesday, February 24, 2015 - Total 3.9

in: 4:11p out: 6:14p 2.1

6458THESLIRMEB2014-0116

read interrogs and evidence

in: 9:21p out: 11:09p

1.8

6458THESLIRMEB2014-0116

review Garner notes

Wednesday, February 25, 2015 - Total 4.8

in: 6:27a out: 8:14a 1.8

6458THESLIRMEB2014-0116

prep for cross

in: 9:30a out: 12:30p

3

6458THESLIRMEB2014-0116

attend at OEBhearing

Thursday, February 26, 2015 - Total 10.2

in: 6:12a out: 8:04a 1.9

6458THESLIRMEB2014-0116

review file prep for panel 4

in: 9:30a out: 11:30a

6458THESLIRMEB2014-0116

attend at OEB

in: 2:02p out: 5:44p 3.7

6458THESLIRMEB2014-0116

prep for panel 5

in: 6:17p out: 8:51p 2.6

6458THESLIRMEB2014-0116

prep for panel 5

Friday, February 27, 2015 - Total 7.6

in: 5:31a out: 7:49a 2.3

6458THESLIRMEB2014-0116

to prep for attendance

in: 9:30a out: 2:45p 5.3

6458THESLIRMEB2014-0116

attend at OEB

Tuesday, March 03, 2015 - Total 4.1

in: 9:42a out: 12:30p

2.8

6458THESLIRMEB2014-0116

1/2 TIME ONLY

listen to streaming broadcast

in: 1:15p out: 2:30p 1.3

6458THESLIRMEB2014-0116

listen to streaming broadcast.

Wednesday, March 25, 2015 - Total 1.3

in: 3:21p out: 4:39p 1.3

6458THESLIRMEB2014-0116

review transcipt and emails with Mark Garner re argument.

Thursday, March 26, 2015 - Total 1.7

in: 7:44a out: 9:28a 1.7

6458THESLIRMEB2014-0116

review file carriers motion and supporting materials

Friday, March 27, 2015 - Total 3.3

in: 10:34a out: 12:14p

1.7

6458THESLIRMEB2014-0116

review Harper draft

in: 1:09p out: 1:53p 0.7

6458THESLIRMEB2014-0116

review file and Harper draft

in: 3:16p out: 4:07p 0.9

6458THESLIRMEB2014-0116

emails re argument

Saturday, March 28, 2015 - Total 0.7

in: 4:28p out: 5:12p 0.7

6458THESLIRMEB2014-0116

receipt and review of interrogs re carriers motion

Sunday, March 29, 2015 - Total 1.4

in: 5:35p out: 7:00p 1.4

6458THESLIRMEB2014-0116

review file prep argument

Monday, March 30, 2015 - Total 2.7

in: 5:01p out: 6:34p 1.6

6458THESLIRMEB2014-0116

Page 5

draft final argument in: 7:32p out: 8:38p 1.1

6458THESLIRMEB2014-0116

THESL argument

Wednesday, April 01, 2015 - Total 5.9

in: 9:12a out: 11:01a

1.8

6458THESLIRMEB2014-0116

review emails re argument also IRs re THESL poles from Harper

in: 1:04p out: 2:28p 1.4

6458THESLIRMEB2014-0116

review file re argument

in: 5:15p out: 7:59p 2.7

6458THESLIRMEB2014-0116

review THESL argument in chief

Thursday, April 02, 2015 - Total 7

in: 7:03a out: 12:34p

5.5

6458THESLIRMEB2014-0116

draft arg and review and submit interrogs on Carriers motion in: 6:12p out: 7:40p 1.5 6458THESLIRMEB2014-0116

draft argument and review filed arguments

Friday, April 03, 2015 - Total 3.4

in: 3:51a out: 4:44a 0.9

6458THESLIRMEB2014-0116

editing argument

in: 10:02a out: 10:45a

0.7

6458THESLIRMEB2014-0116

editing argument

in: 4:58p out: 6:44p 1.8

6458THESLIRMEB2014-0116

review and edit latest version

Thursday, June 04, 2015 - Total 3.5

in: 6:11p out: 9:41p 3.5

6458THESLIRMEB2014-0116

review Carriers and THESL evidence re attachments

Friday, June 05, 2015 - Total 1.9

in: 3:03p out: 4:55p 1.9

6458THESLIRMEB2014-0116

review file and cross from Hariton conversation with Crawford Smith

Tuesday, June 09, 2015 - Total 4.8

in: 6:31a out: 8:22a 1.9

6458THESLIRMEB2014-0116

review and organize materials for settlement conference

in: 9:30a out: 12:01p

2.5

6458THESLIRMEB2014-0116

attendance at settllement conference

in: 6:29p out: 6:53p 0.4

6458THESLIRMEB2014-0116

review of agreement and emails

Thursday, June 11, 2015 - Total 0.5

in: 12:30p out: 1:01p 0.5

6458THESLIRMEB2014-0116

review and sign off on revised agreement and emails

Wednesday, December 30, 2015 - Total 0.9

in: 10:11a out: 11:07a

0.9

6458THESLIRMEB2014-0116

#### review decision and emails

Tuesday, January 26, 2016 - Total 0.8

in: 6:21p out: 7:11p 0.8

6458THESLIRMEB2014-0116

review of Draft rate order

Saturday, February 06, 2016 - Total 0.7

in: 3:29p out: 4:11p 0.7

6458THESLIRMEB2014-0116

review of submissions DRO

Thursday, February 25, 2016 - Total 0.8

in: 8:12p out: 9:01p 0.8

6458THESLIRMEB2014-0116

Review of DRO decision

Totals From Wednesday, January 01, 2014 To Tuesday, March 08, 2016

167.1

6458THESLIRMEB2014-0116

167.1

Total



File # EB-	EB-2014-0116	Process: Toronto Hy	ydro-Electric System Limited
Party:	VECC	Service Provider Name:	Michael Janigan

TO BALL STANKE S	of Disbursements Being Claim			
	Net Cost	HST	Tot	:al
Scanning/Photocopy	43.65	1.72	\$ 4	5,37
Printing	3/6.60	12.47	\$ 329	, 07
Courier			\$	-
Telephone/Fax			\$	2
Transcripts			\$	
Travel: Air			\$	-
Travel: Car			\$	
Travel: Rail			\$	¥
Travel (Other):			\$	2
Parking			\$	-
Taxi			\$	-
Accommodation			\$	-
Meals			\$	
Other:			\$	2
Other:			\$	: e
Other:			\$	-
				a year late

### **Donna Brady**

To:

Donna Brady

Subject:

ThESL Bill 2014 -0116 Disbursements

From: Michael Janigan [mailto:mjanigan@piac.ca]

Sent: Tuesday, March 08, 2016 1:15 PM

To: Donna Brady

Subject: ThESL Bill 2014 -0116 Disbursements

Please Add 291 for photocopies.

291 x 0.15 = 43.65

Michael Janigan Special Counsel Regulatory and Consumer Affairs Public Interest Advocacy Centre 31 Hillsdale Ave. E. Toronto, ON M4S1T4

Office Tele: 416-840-3907

www.piac.ca

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

REG 02-25-2015 10:43 0012

DEPT03 / T1 \$1.40 140 / X \$0.12 DEPT03 T1 \$16.80 TAX-AMT 1 \$18.20 TAX 1 \$2.37 CHARGE \$2.0.57

FS2206237201 Auth # 096975 RRN 001039005

Total \$20.57 (00) APPROVED-THANK YOU

> Retain this copy for your records Customer copy

pould 3

REG 02-23-2015 13:34 0020

NS

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

RFR 02-23-2015 13:47 0021

DEPT03 T1 \$172.00 TAX-AMT 1 \$172.00 TAX 1 \$22.36 CHARGE \$194.36

Retain this copy for your records
Customer copy

Compendia THESL. THESL

PANUL 5 + EX

PRINT THREE
2300 YOUGE ST
416 481 5159
CALL ACAIN

REG 02-27-2015 09:54 0044

NON-TAX T1 \$69.00 NON-TAX T1 \$37.10 TAX-AMT 1 \$106.10 TAX 1 \$13.79 CHARGE \$1 1 9.8 9

### TUU J APPKUVED-IHANK YUU

Retain this copy for your records
Customer copy

Panel 4

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

---

REG 02-26-2015 09:54

290 X 00.07 DEPT03 TI \$20.30 TAX-AMT 1 \$20.30 TAX 1 \$2.64 CHARGE \$22.94

## ( 00 ) APPROVED-THANK YOU

Retain this copy for your records Customer copy



File # EB-	2014-0116		Process:	THESL
Party:	UECC		Service Pro	vider Name: GEARGE HARITAN
	SERVICE PROVIDER TYPE Legal Counsel Articling Student/Paralegal Consultant Analyst For Consultant/Analyst:	(check one)	Year Called to Bar  ched ided within previous	Completed Years Practising/Years of Relevant Experience  Hourly Rate: 330.   HST Rate Charged (enter %): 3.94

St	atement	of Fe	ees Being	Clain	ned			The state of	
	Hours	_	urly Rate		btotal	T	HST	Tot	al
Pre-hearing Conference									
Preparation		\$	-	\$	(177)	\$	17.	\$	=
Attendance		\$	<u>u</u>	\$	÷	\$	-	\$	
Technical Conference									
Preparation		\$		\$	(+)	\$	-	\$	-
Attendance		\$	-	\$	(1 <del>7</del> )	\$	-	\$	=
Interrogatories									
Preparation		\$		\$	-	\$	-	\$	_
Responses		\$	8	\$	940	\$	2:	\$	-
Issues Conference									
Preparation		\$	-	\$	151	\$		\$	-
Attendance		\$	8	\$	-	\$	-	\$	-
ADR - Settlement Conference						<u> </u>			
Preparation		\$	-	\$	-	\$	(4/	\$	- 2
Attendance		\$	-	\$	(+)	\$	-	\$	-
Proposal Preparation		\$	-	\$		\$	-	\$	
Argument									
Preparation		\$	2	\$	123	\$	_	\$	14
Oral Hearing						<u> </u>			
Preparation		\$		\$	5=3	\$	-	\$	0+0
Attendance		\$		\$	· -	\$		\$	1000
Other Conferences						Ė			
Preparation	13.0	\$3	30 -	\$ 42	190	\$ /6	59.03	\$4,459	. 03
Attendance		\$		\$	-	\$	-	\$	-
Case Management		\$	170.00	\$		\$	*	\$	9 <b></b> (
TOTAL SERVICE PROVIDER FEES		_		\$		\$		\$	

### **INVOICE**

George Hariton 13 Carlaw Avenue Ottawa, Ontario K2G 0P9

Michael Janigan, Special Counsel Public Interest Advocacy Centre 31 Hillsdale Avenue East Toronto, Ontario M4S 1T4

March 2, 2016

For professional services rendered in re: Toronto Hydro-Electric System Limited - OEB File No. EB-2014-0116

Interrogatories to interveners' witnesses

13.0 hours @ \$330

\$4,290.00

HST (HST # 869 900 472)

\$557.70

Amount due

\$ 4,847.70

Yours truly,

George Hariton



File # EB-	2014-0116		Process: T	HESL 2015-19 Rates	
Party:	VECC		Service Pro	ovider Name: Bill Harper	
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel		le 'dehertel	36	
	<b>Articling Student/Paralegal</b>				
	Consultant	<u> </u>		Hourly Rate:	\$330
	Analyst	_ ⊔			
	For Consultant/Analyst:	☐ CV attac	hed	HST Rate Charged (enter %):	3.9%
		CV provi	ided within previous	24 months	

S	tatement o	of Fe	ees Being	Cla	imed	The state of the	
	Hours	Но	urly Rate		Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$	-	\$ 	\$ -
Attendance		\$	330.00	\$	CE CE	\$ -	\$
Technical Conference							
Preparation	4.0	\$	330.00	\$	1,320.00	\$ 52.01	\$ 1,372.01
Attendance		\$	330.00	\$	5元	\$ (III)	\$ -
Interrogatories							
Preparation	17.25 17.3	\$	330.00	\$	5,692.50	\$ 224.28	\$ 5,916.78
Responses		\$	330.00	\$	14	\$ -	\$ 2
Issues Conference							
Preparation		\$	330.00	\$	-	\$ -	\$ -
Attendance		\$	330.00	\$	•	\$ 3	\$ 7.
ADR - Settlement Conference							
Preparation	7.75 7.8	\$	330.00	\$	2,557.50	\$ 100.77	\$ 2,658.27
Attendance		\$	330.00	\$	-	\$ 3#3	\$ -
Proposal Preparation		\$	330.00	\$	-	\$ 150	\$ (e
Argument				5.			
Preparation	16,7516.8	\$	330.00	\$	5,527.50	\$ 217.78	\$ 5,745.28
Oral Hearing							
Preparation	19.7519.8	\$	330.00	\$	6,517.50	\$ 256.79	\$ 6,774.29
Attendance		\$	330.00	\$	\ <del>-</del> :	\$ -	\$ j.=;
Other Conferences							
Preparation		\$	330.00	\$	120	\$ 2	\$ -
Attendance	1.5	\$	330.00	\$	495.00	\$ 19.50	\$ 514.50
Case Management		\$	170.00	\$		\$ -	\$ (#U
TOTAL SERVICE PROVIDER FEES				\$	22,110.00	\$ 871.13	\$ 22,981.13



File # EB-	2014-0116		Process: THESL 205-19	Rates		
Party:	VECC		Service Provider Name:	Mark Garner	15.575	
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experier	of Relevant	
	Legal Counsel			28		
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$325	
	For Consultant/Analyst:	☐ CV attac ☐ CV provi	hed HST Rate Ch ded within previous 24 months	narged (enter %):	3.9%	

St	atement o	of F	ees Being	Cla	imed				
	Hours	$\overline{}$	urly Rate	-	Subtotal	T	HST	Τ	Total
Pre-hearing Conference			-			T			
Preparation		\$	325.00	\$	141	\$	(*)	\$	2
Attendance		\$	325.00	\$	-	\$		\$	-
Technical Conference									
Preparation		\$	325.00	\$	12	\$	-	\$	-
Attendance	14.5	\$	325.00	\$	4,712.50	\$	185.67	\$	4,898.17
Interrogatories							12.1900.200.000.00		
Preparation	20.5	\$	325.00	\$	6,662.50	\$	262.50	\$	6,925.00
Responses	6.0	\$	325.00	\$	1,950.00	\$	76.83	\$	2,026.83
Issues Conference						Ė			
Preparation		\$	325.00	\$	3#26	\$	=	\$	-
Attendance	1.5	\$	325.00	\$	487.50	\$	19.21	\$	506.71
ADR - Settlement Conference									
Preparation	10.0	\$	325.00	\$	3,250.00	\$	128.05	\$	3,378.05
Attendance	3.0	\$	325.00	\$	975.00	\$	38.42	\$	1,013.42
Proposal Preparation		\$	325.00	\$	-	\$	_	\$	-
Argument									
Preparation	21.0	\$	325.00	\$	6,825.00	\$	268.91	\$	7,093.91
Oral Hearing									•
Preparation	23.5	\$	325.00	\$	7,637.50	\$	300.92	\$	7,938.42
Attendance		\$	325.00	\$	-	\$	(4)	\$	
Other Conferences								11.11-22	
Preparation		\$	325.00	\$	-	\$	-	\$	-
Attendance		\$	325.00	\$		\$	-	\$	-
Case Management		\$	170.00	\$	54	\$	v	\$	-
OTAL SERVICE PROVIDER FEES				\$	32,500.00	\$	1,280.50	\$	33,780.50

## **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

## **Statement of Costs**

Date	File #
02/03/2016	2016021

Bill To

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Terms	Docket No.
Net 30	EB-2014-0116

#### Project

#### THESL 2015-19 Rates

Serviced	Item	Description	Hours	Rate	Amount
22/09/2014	Other Conf. Attendance	Meet with other intervenors to discuss Application	1.5	330.00	495.00
24/09/2014	Interrogatories Preparation	522	1	330.00	330.00
26/09/2014	Interrogatories Preparation		5.75	330.00	1,897.50
04/10/2014	Interrogatories Preparation	1	3	330.00	990.00
05/10/2014	Interrogatories Preparation		2.5	330.00	825.00
13/10/2014	Interrogatories Preparation		0.5	330.00	165.00
15/10/2014	Interrogatories Preparation	Review evidence/intervention/draft interrogatories/notes	7	325.00	2,275.00
16/10/2014	Interrogatories Preparation	Prepare Interrogatories/notes		005.00	
17/10/2014	Interrogatories Preparation	Interrogatories/notes	6	325.00	1,950.00
07/11/2014	Technical Conf. Preparation	TC Questions	0.5	325.00	1,300.00
08/11/2014	Technical Conf. Preparation	10 Questions	2.5	330.00	825.00
16/11/2014	Interrogatories Responses	Review interrogatory responses/draft notes/begin compendium of evidence	1.5	330.00 325.00	495.00 1,950.00
17/11/2014	Technical Conf. Attendance	Technical Conference attendance and preparation (9:30-5:30pm)	7	325.00	2,275.00
18/11/2014	Technical Conf. Attendance	Technical Conference Attendance ((9:00am-5:30)	7.5	325.00	2,437.50
28/11/2014	Issues Conference Attendance	Issues Conference Attendance (9:30am-11:15am)	1.5	325.00	487.50

HST #10160 6028	
Total	

## Econalysis Consulting Services

34 King St East Suite 630 Toronto, Ontario M5C 2X8

## **Statement of Costs**

Date	File #
02/03/2016	2016021

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.	
Net 30	EB-2014-0116	

	Project				
THESL 2015-19 Rates					
Serviced	Item	Description	Hours	Rate	Amount
22/12/2014	Interrogatories Preparation	Review PEG Evidence draft	3.5	325.00	1,137.50
27/12/2014	ADD D	interrogatories & notes	0.0	025.00	1,137.50
29/12/2014	ADR Preparation		5	330.00	1,650.00
19/01/2015	ADR Preparation		2.5	330.00	825.00
10/01/2015	ADR Preparation	Settlement Conference briefing	2	325.00	650.00
20/01/2015	ADR Preparation	Settelment Conference Briefing	8	325.00	0.000.00
22/01/2015	ADDA	Notes	٥	323.00	2,600.00
22/01/2015	ADR Attendance	Settlement Confernce attendance 9:30am-3:10pm - partial charge	3	325.00	975.00
05/02/2015	ADR Preparation	for briefing MJ.	2524-000		
16/02/2015	Oral Hearing Preparation	Hearing Cross-examination	0.25	330.00	82.50
		preparation - Panel 1	9	325.00	2,925.00
19/02/2015	Oral Hearing Preparation	propulation 1 diloi 1	4.05	000.00	N N225
19/02/2015	Oral Hearing Preparation	Hearing cross-examination notes	4.25	330.00	1,402.50
	5040 (3400000000000	& compendium preparation -	3.5	325.00	1,137.50
20/02/2015	Oral Hearing Preparation	ranei 2		20022000000	
21/02/2015	Oral Hearing Preparation	1	2.5	330.00	825.00
22/02/2015	Oral Hearing Preparation	1	1.5	330.00	495.00
24/02/2015	Oral Hearing Preparation	1	11	330.00	330.00
24/02/2015	Oral Hearing Preparation	Hearing cross-examination notes	1	330.00	330.00
		and compendium - Panel 3	6	325.00	1,950.00

HST #10160 6028

Total

## **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

## **Statement of Costs**

Date	File #
02/03/2016	2016021

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	EB-2014-0116

### Project

### THESL 2015-19 Rates

Serviced	Item	Description	Hours	Rate	Amount
25/02/2015	Oral Hearing Preparation	Hearing cross-examination briefing notes and compendium - Panel 4	5	325.00	1,625.00
05/03/2015	Argument Preparation	Source of the State of the Stat	1	330.00	330.00
06/03/2015	Argument Preparation		2	330.00	660.00
07/03/2015	Argument Preparation		3	330.00	990.00
08/03/2015	Argument Preparation	1	4	330.00	1,320.00
09/03/2015	Argument Preparation		5.25	330.00	1,732.50
10/03/2015	Argument Preparation		0.5	330.00	165.00
18/03/2015	Argument Preparation		1	330.00	330.00
31/03/2015	Interrogatories Preparation	Carrier Evidence IRs	4.5	330.00	1,485.00
01/04/2015	Argument Preparation	Draft Argument/confer with MJ	4	325.00	1,300.00
02/04/2015	Argument Preparation	Draft Argument	8	325.00	2,600.00
03/04/2015	Argument Preparation	Draft final argument/incorporate comments/confer with MJ/finalize argument	9	325.00	2,925.00
02/06/2015	Oral Hearing Preparation	Pole Attachment Rate	4	200.00	000.00
04/06/2015	Oral Hearing Preparation	Pole Attachment Rate	3.5	330.00	330.00
05/06/2015	Oral Hearing Preparation	Pole Attachment Rate	5.5	330.00	1,155.00
		Subtotal	3	330.00	1,650.00
		HST on Sales		13.00%	54,610.00 7,099.30

HST #10160 6028	\$7,099.30	
Total	\$61,709.30	